Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBC\TX-4208-09.dwg, TX-4208

POWERED !BY'liFi

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2018
international Residential Code (IRC), Sections R301 & Ré609 and the 2018
Intemational Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1.

2,

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.
Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing. ‘

Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

i Typical elevations, design pressures & general notes

Astragal details (Ultimate Huricone)

Door panel details {lip lite insert glazing)

Horizontal & vertical cross sections

Vertical cross sections

O~ jwin

Frame anchoring

74.44" MAX. FRAME WIDTH

Ex,
SR SEHMIE

<.l
-
Sirsensuarassse

AAAALVLY
OF TE:
i g

LYNDO

seseqerrerne
'

81.94' MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A
FRAME HEIGHT (OUTSWING)

/
i

-
2%
g.”
,)
)

INSWING

+50.0

-50.0

XX

OUTSWING

+50.0

-50.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33585
Phone No.: B13.859.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F~11852

%)
=
28
iy
<
.
5
£ =t
> 5 <O
S | o
S = 3
]
al _a
< Fx
= v 23
7
s ol L&
o [ E: EE
o xl F
& <
o o.
ol Telefel
~J BN § )
Wl fwg
s |5
SIS
z|9|19|S
SIS~ u
NI =
o |0 =6
olmiwo ")
| (& pd
= T3>
oV |Ll=El O
EIS| LIRS [@
EN?(’D:§ <
L’"QZU}‘)O a
SEIEIRIE] |
2haigi=
RSN
=§<Za
Q%QQQ
alR{a|ala
< Igi<g|<
g ®lo s
NN
2 |8l
NENENE
| o2
DATE: 8,/08/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4208

SHEET 1 oF 6

© 2012 R.W. BUILDING CONSULTANTS ING.



*ON| ELNVLINENDGD aNIaung "m'y 2102 @

Z98LL—4 # NOLVMISIORN 4O ILVOLLLNIO SNOISIAZY
SHIIANIONT WNOISSIAONd 40 UHVO8 Svxal Gm«@%%ﬁ«%&@&mwi Ag 31vd [ON{« 6%
L616°689°CLE FON Suoud . S TS ONLVINOIYY 030av] $1/90/1 ] L || x| %
S6S£C 14 OSMIBA 0EZ X08 '0'd %vm" AIBNISSY 0 T8Vd [S47] 3anidvo Nid vovdlsy MIN_aav] s1/5/5 |z |o|'5| *|~ |, §| 8
"ONI ‘SINVLINSNOO ONIGUNG S41 SUIOHS3IgHL_TvNOILIdAY dav| 81/s0/6 | £ || < g | 2_
3000 2¥1/081 810Z Ol 31¥ddn 0 ElEle &2
£Z1¥0L# I'd SVXIL V4NAN3 S41 ® NOUJO ,2wpijuoisny, aav|6L/61/zL| v |wl9| 6| v |E &
‘I'd WPILYOS ‘J Uopukl  :4g peuodesd sjuswinoog 110Naodd 3 m 8|3 m %
°T LS
SRS
S SN0, b, >,
FF7 ) Z
- 2 I ATAY w..:.....a..:\ & L
u::oq ....... ::.a.c:.. OOZ\»/J \\. ” A
% LaNK0S A N0y g 2 B
.Amn-&-v:ﬂ. 'oo.u? h 2 E > .
4 %.9 ¥ .... ....ﬂu h & M m f—
Uy S o Y TTTeT] o= <3 3
I8 A WOLLO¥ &
AN Q
—f
- o
a
] [TIel SN <
’ 3 I i
=, 4 a
]
X
2
3
(2]
E S
- EE
ls = -
3 2
® N
3 >
__Nm.o "w ﬁnll’ %
(%) 0
2 o L]
= Z @) |7
<C D G =3 i1
o - < o= =2
Y Q w|< =
z S : a o
(W] w in o (2]
b _T N 72 &
3 < 3
ol nh D mm
X v X
O < <
=z J — =
< <
=
3
<
5 =
3 2 8 3
[T — < o
Z|Z b O
= w oz @
= — LLi
= o 8
st ® @
oL
ol =
..WOI’}'! ettt
4
Q
 —
. e
in
T ~ «2
[ 244 3
a2 n b J 3
Qx O}
. 58 + -
2 & Za . e
L [32] (%}
A3 23 g <
50 T2 e
Qe = .
x % W99'C
ol
=

(TRIM COVER REMOVED)

(2) #8 X 1-5/8" PFH
WOOD SCREWS

LOWER BOLT SLEEVE
(REINF. POLYMER)

ULTIMATE HURRICANE ASTRAGAL

2-1 'BMp'60-802F-XL\D8I 8107 AT¥\sBuIMeIg\[@2}$ nuL-ewsY | 985-HQ - 1A1\SU} jO 1dag sexa) - G\LNINVINYId BINPUIASIUSIDNY



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBC\TX-4208-09.dwg, 1-3

1.24"

INTERIOR

Ty t—

S

[/
/1

—

EXTERIOR

b

- at—

il 774411711 1117117177

i e

'

28"

1.24"

Y

Z 12" LONG

LOCK BLOCK
(WOOD)

GLASS BITE 7/16"

BN

QSO SEALANT

GLAZING DETAIL
Lip Lite Insert Glazing

1/8" TEMPERED GLASS

#_ — AR SPACE
~~_1/8" TEMPERED GLASS

STEEL SPACER

HINGE STILE
(WOOD)
@ HORIZONTAL CROSS SECTION
3
36" MAX.
PANEL WIDTH
21" MAX
D.L.O. WIDTH
E 3 } #6 X 1-1/2' PH SMS
INTERIOR

x L

= T
36 %9
> & sx S ] 3
< h .
=g &9
] a
& EXTERIOR

LOW TACK SEALANT
SEE HARDWARE
TABLE
b
THERMA-TRU
Insert glazed
[steel)

KWIKSET

LATCH:

SIGNATURE SERIES (991)
DEADBOLT: SIGNATURE SERIES (980/985)

I

————1/2" NOMINAL GLASS THK.

LOCK STILE
(WOOD)

Ao uf
STy, ey
Fe X 121330 £3 0
: FRiE Tl | 322 o EY
1.75" — AN iE w26l 8 | Ex 2 o
N ioie Vel & 18y g8 BT
TOP RAIL i A iz g Lo Eoa Ed
(COMP SUPNZIE THEA
Wi 5t T 2890 33
05, 0 > 858 sk
( ", s pe) ow
Il\/'s{"o 12 (R 2>M mé
¢ *t>- % R
z lll¥ -iti . g l‘g) © of
o~ Tt & ocg ED
. © g 2 3= u_ﬁ
FOAM CORE e ¢ £d, Oy
. o . £
(POLYURETHA!\IE)\\ - g 3455 B
t & Mmoo 05
- . m
T
(=
[
bl
SN éo
[]
[#]
| s ’(23\
IS
<
53
< b
S |x o9
2 |z 52
& Zl =
e Ly
Bl xe=
INTERIOR EXTERIOR . <| S
EATERIOK = x| Sa
3 L=
& <
0o Q.
1] ninin >
bt O ] B 4
Lis L
al 15
8[O|y|F
221313
OI=10] T
24 Ga. STEEL SKIN N E
olm i wn
N % 22 £
EEEENS
Elol | L
ANELEHEIR
tlo|5|2|2
SIFIEISIE| I
2| <
3
- g QU o
o % ool
= Q QIoIQ
§ < <j<({<€
BOTTOM RAIL S ol Jwlp|+
(COMP.) o }}}E
\u (o] O
NENRNE
+| Mo g
oate: 8/08/12
SCALE: N.T.S.
/" 2"\ VERTICAL CROSS SECTION
\y DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4208

SHEET 3 oF 6

© zorz R.W. BUILDING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBC\TX-4208-09.dwg, 1-4

2X FRAMING 2X FRAMING oy ui
2N/37 (G >=0.42) (G >=0.42) SR oy o8
4 - DRYWALL s DRYWALL | £S%*iat 83,0, 4% @
Y )\ —\ So-iZimmh |22 o B
\ ~ i Sofs g g% o fEs 2 e
i S N {1 T BN, Do Gi¥Y ::: du ¢B &%
d EXT. SHEATHING ) EXT. SHEATHING  p|{Id u‘%‘ﬁ o g =g (: w® =y 5;
¢l 4 b4 O.‘. i o (S a
// // \ WA . '»":VV ’ \ 1 ‘r ?"\))'.‘ %% :3‘. :;:fg" gg g ’§ I;: %%
Vi V4 il & il 5. 018K |F D83 g8
/ / ! | #ox2-1/2pee ! Q‘h{";‘."?‘ A Zgo %é
R - { ATt ON. EO
|1~ WOOD SCREW ‘ e D -
AN ® £my 0%
1/4" MAX. g 9.5 g
’ . o 5Qc M
SHIMSPACE ™| V. I #10% 3" PEH 2 mg 35
< 0O. ]
X X S5E 14 MAx. WOOD SCREW £ gt
10 5] SHIM SPACE £ @§ 5y
O, > ] 2000000 §
DOOR PANEL f DOOR PANEL
/ / N HEAD: PINE N HEAD: "FusionFrame" (1-PIECE) 2
S
// /// ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP EQ
/ / (QEBD/PE 650) (QEBD/PE 650) Yo
=t O
b q EXTERIOR W INTERIOR EXTERIOR W INTERIOR S g
S |3 23
72"\ VERTICAL CROSS SECTION ("3 VERTICAL CROSS SECTION 8 S8
n 73 ™ w Outswing shown - inswing also approved w Outswing shown - inswing also approved § « §
o
CORNER paDs \ 3N\ s 2 %
(TYP.)
) 0.15" ] I 4L P
1/4" MAX. . 1/4" MAX.
Hi 5P —w] }=— C'SINK o
SHIM SPACE (1YP) SHIMSPACE  ExT, SHEATHING 815
EXT. SHEATHING JAMB: "FusionFrame” S(C|nlk
(1 OR 2-PIECE) z|Q|3|S
JAMB: PINE SN E
et T e o |Oln|=l;
075 —=—f 075" =t 075" 40)(2_1 2" PEH #10X 2-1/2' PFH =E=——aaa— SRS | 2
1 ) — | o0n sorew WOOD SCREW PEEEERS
SNl =
—mu ULTIMATE HURRICANE ASTRAGAL SNEER B
MPOSITE 2X FRAMING S 1I4ELI I T4 =|o S [2118]
co SNAP-ON (G >=0.42) ENDURA WEATHERSTRIP ZXFRAMING | 1.0/ ) Tl =
\ AP (QEBD/PE 650) ENDURA WEATHERSTRIP (G>=042) | |2|218I5|<
DOOR PANEL (QEBD/PE 650) NN N
AN SSEEE
Zo p—-L <t <{<j<C
Q 2| (R|olx
LvL R SR N = :
] <l Imlal=l©
=z
O [
|—-— #8 X 2-1/2" PFH #8X 1"PFHSMS  #8X3"PFH LATCH #8 X 1" PFH SMS #8 X 2-1/2" PFH ScALE:  N.T.S.
P 125 = | o |- WOOD SCREW S HINGE WOOD SCREW , o 1+ pryy STRIKE PLATE 4 Hnce WOOD SCREW owe. 8. JK
JAMB / HEAD JAMB / HEAD JAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS chk. B:  LFS
DRAWING NO.:
PINE "FusionFrame” "FusionFrame" @ ggﬂé%g{vﬁ’: gﬁs?visrfgfnigggp'gove d TX—4208
(1-PIECE) (2-PIECE) i 4 o 6

© zo12 R.W. BUILDING DONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru SteeN\Drawings\REV 2018 IBC\TX-4208-09.dwg, 1-5

MAX. DESIGN PRESSURE = +35/-40 PSF

MAX. DESIGN PRESSURE = +35/-40 PSF

iy Eo
—_ \/ o
! 4.56" ,! L-———— 4.56" ~—-—>I ! 4.56"
INSWING ARTICULATING THRESHOLD 7 }INSWING ARTICULATING THRESHOLD g JINSWING ARTICULATING THRESHOLD
IACLA565 ZACA4565FN IACLAA4565

6

MAX. DESIGN PRESSURE = +45 PSF

MAX. DESIGN PRESSURE = +35/-40 PSF

i

(]

’4— 1.49" -

4.5¢6" f!

OQUTSWING THRESHOLD

11

LOBL4545

o@D

MAX. DESIGN PRESSURE = +45 PSF

[ 1.47" -~

b

|

4.56"

i

12 OUTSWING THRESHOLD

ZIOB4565FN

~— 1.49" ]

|

4.56"

9 INSWING ARTICULATING THRESHOLD

IACAA4565FN

4.56"

10 INSWING ARTICULATING THRESHOLD

IAC4565RDS

MAX. DESIGN PRESSURE = +35/-40 PSF

MAX. DESIGN PRESSURE = +45 PSF

4 56"

13 OUTSWING THRESHOLD

ZOB4565RDS

-

m

4.56"

14 OUTSWING THRESHOLD

FOBA4566

\\ i\ TRy, f "
INTERIOR EXTERIOR INTERIOR EXTERIOR P P ft;z LY
DOOR PANEL ENDURA Foiei 2Tl 28, Eg
L DOOR PANEL WEATHERSTRIP // DOOR PANEL A § P L olEx @ B
EBD/PE 6 INTERIOR EXTERIOR ST = SO ~N[5T B ZC
ENDURA \ (QEBD/PE 650) T O DURA I = 1919 w|%d gn 2f
DOOR W e OOR P WEATHERSTRIP,_  INTERIOR EXTERIOR ?;75(% iy S: o pTY =
- 4 H § S 39 s )
/% (DBICR) (DBK-ZAC) (1)12)13) (QEBD/PE 650) ool 151 ¥ gg zip 85
\ ?‘} {:/ -..... ::% ] "..0 -4 a g % A g
U5 RS . g® bb
Nedee™ & ©O%: FQ
o C 3=z &
® % oo O%
3] =
§ 592 g
- o [ N S 8
2 S m%
s
% & lls
8
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR 2
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4"X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW %
/ 1"\ VERTICAL CROSS SECTION / 2\ VERTICAL CROSS SECTION 3"\ VERTICAL CROSS SECTION /g\ VERTICAL CROSS SECTION .| @
inswing Adjustable Threshold Inswing Arficulating Threshold Qutswing Bump Threshold uiswing sump inresno o 2,
W 9nd \5/ w/ ngCopfure J \y ? U 2 ‘é
5 S
~J
. S
[ T =7 5 Q
NS : N 2 x
] A > & 2
— — - o
_L__ ? v r—\_ﬁ * nl inlnln
I } l - 456" | | 456" | | " | l 5| |sls]s)E
| 4.56 | ! . ! i . ; } 4.56 | , 4.56" -
1 }INSWING ADJUSTABLE THRESHOLD 2 ) INSWING ADJUSTABLE THRESHOLD 3 )}INSWING ADJUSTABLE THRESHOLD 4 ) INSWING ADJUSTABLE THRESHOLD 5 )} INSWING ADJUSTABLE THRESHOLD
ZAIL4565 ZAI4565FN LAILAA4565 ZAIAA4565FN ZAI4565RDS

REVISIONS

UPDATE TO 2018 IBC/IRC CODE

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS| PART OR ASSEMBLY:

9/05/18 |ADD ADDITIONAL THRESHOLDS
1/06/14 |ADDED ARTICULATING SILL

12/19/19|ADD "FusionFrame” OPTION &

4
3

oy —

NO., DATE

oaTE: 8/08/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4208

SHEET 5 oF 6

© zo12 rRowW. BUILDING DONBULTANTS INC,



R:\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-586 Therma-Tru Stee\Drawings\REV 2018 IBC\TX-4208-09.dwg, 1-6

B HEAD ANCHORS: oy, u
s O #10X 2-1/2"WOOD SCREW (PINE JAMB) - SNy, ©q
O06% 2X FRAMING #10 X 3" WOOD SCREW (1-PIECE JAMB) gsgcgg'f*”"f; Flate il gl g3 2o
T oo o (BY OTHERS) g ead Jam Fo2TIg Ex 8 43
3R9 M 2" S gL, 84 B 5T
= 8 6 ™ ” 2T hgioiS i 200 &l
_. T e AR GG e e
- _ N ASREE I tH z8s 33
SEE HlNGE /l I l \ {)'\/&,.’ QO B o~ 3‘ 5! >U © g E
. i | D S Z S 2> O
WES‘/ DETAIL 1 ! #10 X 2.5" PFH WS "?zi“"*«):’ 2 §8® ‘65
? I hl\u\_xxx\"'“‘ & ©O8: FQ
5, SEE DETAIL 1 s _DETAIL 1 v 052 ,°%
w0 i I Zm e © "5
& in I — g g G § S
JAMB ANCHORS: o @ oo o g
% \ l #10X 2-1/2"WOOD SCREW (PINE/2-PIECE JAMB) 2 § E
N N #10 X 3" WOOD SCREW (1-PIECE JAMB) £ @ g ]
N (B ' 3 °
- T | 1 §
SEE HINGE ! B - #8 X 2-1/2" PFH WS
DETA“. 2 N l E ] L
" - - (€
] ) SEE DETAIL 2 OR 3 <E #8 X 1"PFHWS é:, | =~ #8 X 3/4" PFH WS §
E3 | SE — 4 X 4 HINGE g | 2
U 2 |3 =
m -t ~ O = o <<
s 1 l—ll A ] - L) E LEU
%X HINGE DETAIL 1 Q =
SILL ANCHORS: 5 %
£ (TYP) —m #10 X 2-1/2" PFH WOOD SCREW 3 e
— 2'(Typ) —1/4'X 2-3/4"ELCO OR \ & <
FLOOR SUBSTRATE MATERIAL .,
HINGE JAMB CONCRETE (MIN, 3000 PS| ITW CONCRETE SCREW | #8X2-1/2' PFH WS T Toleles
— om
WOOD (G>=042) FRAME ANCHORING o =51
XX #8 X 1" PFH wséf A S S 15
2 o HloF == #8X 3/4' PFH WS ISR
1 4" X 4" HINGE zI2|213|,
h\ BNzl
\ % gé Q o vy ”
JAMB NOTES: = ol TI2I2] B
THE PINE OR "FusionFrame™ 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. HINGE DETAIL 2 g o : é E (%
THE FusionFrame™ 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. E 2 g g 2 o
[ O =
CONCRETE ANCHOR NOTES: SEEE [T
1. Concrete anchor locations at the corners may be adjusted to maintain the min. I S § Lzu :
edge distance to mortar joints. " " e [Py
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo 3/16"X 2-3/4" ITW CONCRETE SCREW 8 % S 8
maintain the min. edge distance to mortar joints, addifional concrete anchors OR ASTRAGAL PIN CAPTURE <L U=
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) g Olin|F
: h table: NN\
3. Conerete anchor fable ASTRAGAL STRIKE ) 2l 18llglz
PLATE @ SILL \ 1/2" DIA. HOLE (IN CAP) NENENE
o
R Y <+ NI =
nmw | I B ® ® o0 o
TAPCON® | 3/1¢ 1-3/4" 3 1-1/2 == Ly = Z = DATE: 8,/08/12
mw " o " " SCALE: N. T. S .
TAPCON® 1/ 1-3/4 1-1/2 4 DWG. BY: JK
E’.CO " " " 11 3 .
utrRacoN®| 1/ 1-3/ ! 4 1/2'DIA- HOLE DETAIL 2 DETAIL2. DETAIL 3 g::w»i No- =
WOOD SCREW INSTALLATION NOTES: Outswing Inswing Inswing TX— ; 208

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

SHEET 6 oF B

@ 2012 R.W. BUILDING CONSULTANTS INC.



